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Solve the following gumtitative by FACTORING:
1. x2=7x+18 2. f(x) =x*+3x2—4
(x-ay (x+D)=0 (x> LrDX-N =0

N 30 203 —7x =132 — 4. —4x = 253 + 202
[ -0 -
”% Ax*-13x*-1x= O X0 555 et = O
(x> 1% 1)=0 X(15xt+20x +H) = O
@_xl-ll—!xm"O) X G+ -0
TXx-) | (X mgmw..% a

X(2X+D) (x-1D =0
Simplify. Write the polynomial in standard form. Identi

fy the leading coefficient, degree, and name the

polynomial
5) (=5x* — 6x% +8x) — 2(~5x + 2x2 — 12) —6)(%'(9)(1":-% L+HI0X -UYyx2y 2y
Standard Form: -5 _l()')(L +1{X +24 - D. 2 LC- -5

Name:  (CLub(( polymom ok

Multiply the following polynomials. - (Y4 D) Lxt D)
6) 3x(x —5)(3x — 2) 7) — (6x — x% + 3)(4x + 1)?

32199 (3x-2) (’ bx+x*- %) ( M

Ax®—(xt-usx* +50 X

M- 5% +H0X

Expand the expressions.
I (0 - 150x

' 552 ~a5x® 502 |
(1) (7= 1%

DEZIT g 4 v Tehe @ 5 () G Ky
2 51 M \(l 0 b (5\{)1 = 22000 Y
b () 2= 10 0 ou £ Soo0 )
4 _
| (g %' = Y | (o (5 = 219y°

s o
[250x"- WP Hpt-432x H O | PR OO k0 DIy Y |
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10) A coin is flipped 12 times. What is the probability of getting at least 10 heads?
10 2_
PO = 0 (-9 E= L0l
PUN =12 G ()" L)'= 20029 =
—7L\7'3' CIL (- S)‘LL S)° L0002+

11) You just took your chemlstry benchmark. Each question had 4 answer choices. What is the probability you

got exactly 17 of the 20 questions correct?
PUM= 2OCn(.2§)ﬂ( 15)° - |,Uooooool%§

-Jnction with the given

zeros: Q L/ _ 4/

q

12) Everyone in your math class of 10 students has taken the driving test. The average passmg rate is 78%.
What is the probability that more than 2 classmates passed the test?

Plo)- D() (ﬂﬂ (.22)° = . boooLO Y

P = 1wl .18)’ (L22) = - 00000aAH\T
000190154

L C, Lﬂf)lli)ﬁ_,______—f
Py |- 000159022 = 001 4

13) You visit 9 colleges during your Junior Year Spring Break. The chance of you being accepted at these
prestigious universities is 37%. What is the probablhty you are accepted to either 4 or 5 universities?

PL- CL, I N UL ki
5 (L)' 1T
PL9Y= o0, L%3 ,@

14) Simplify (2—3x)(3x> —2x — 1) " 15) Factor completely: —16x* —54x

Hulaut ]2 — 2y (XA
$ mmﬂ . . a-,Zx D= %

| 16 (ks (Wt - LX+9)

16) Simplify (x> —x? +3x) — (-3x* + 2x —3)

VP-X 4%+ Hx -ax +D
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17) Which binomial is 3 factor of the polynomial 3x* + 6x> —5x—10?
(2Y2-SDLXT2)

A. (x +4) B. (x—2) I C.(x+2) , D. (x—4)

18) Find the zeros of the function. f(x) = 4x* — 10x3 + 4x2

XA XD xt )
Qx *_yyf I X t 1)
2x(y~D) V2D

AOx-ND__—
Y 0 kot 2, (2,

19) Find the product 2cd*(—4c®d® — c3d) 20) Divide (6x3 +5x—8) + (x —2)
- 2¢00° 2y 0 9 "%

| 'y nay O

' 7 1 B

U %)
7 S0
YEHA YA T 57

21) Factor x3 + 5x2 — 9x — 45 22) Factor the expression 81x® + 24x3y3

YHATS) -ALXrS) | :)),xa(a,-],x34_gﬂb)
(xz-9) (x¥S) , (=%x V=12Y

23) Write the simplest polynomial function with zeros 5, -4, andv2 —P X' \
) I
(-5 (xtd) -2 =0 XX g 21

(5 (X440 -1x-t)
R UENG ‘_7_)(1 $x
5 14p 1100 | 10w | 1O
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24) After studying a couple's family history, a doctor determines that the probability of any child born to this couplfe b
having a gene for disease X is 1 out of 4. If the couple has three children, what is the probability that at least two of the
children have the gene for disease X?

| B
PLD= L0 (253 LIS) = L 14D e
PL2)= 2(, (.29)7¢79)"= .019w2S

N With tha oiv/an

4 - Lo xr1=2
YHYY —1p= O [ X=-2% 10 ‘lj

s = bt

26) (2x +3)%(x — 1)2

(W12 L +9) (-2 +1)
4 . ARy +a )

Wt | f
WX 00 |-
RS HK X
27) How do you name polynomials based onr the degree'-’ Consider degrees of 0, 1, 2, 3,4, 5
D +nstant 3 Lubic
A= ey, guartic
&‘.—*)ODWVM—IC 5 qr‘nimﬁc

Factor completely.

28) —12x* + 10x3 + 8x2 ' '>H@ -- 29) 81a%b® — 100c22
2Lt - By —4) | (Gow* +10¢") (da*-1Dc) |

[ex-- PO X4
1A (HX-4) | be-u)

Qﬁmm (2X-4) )

30) 81a%h* — 121c™® 31)(3;:5 +2x9)- 81x2 - 54)

3(4x+2)- L1 (%x +7)
(Jap* 11" (207 1" e e
Q)(—a) (KTt Hx +a) (9¢+2) )
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32) 40x6 — 13,3
) 40x — 1355 33) 6x7 — 6x

5X>(§x>-27) Lx(x 1) | .
| UX%@(”JrDL?( - )

e OD | :
R -2) Lok ) o TEn N +7<)r®

34) —3x13 4 21x9 + 54x5 35)kx1°+3x ﬁ32x6—48x) :
By - 19) 7 2 e “W)
2(Y1-9) (X'+2)

36) x* —3x% — 18 xu‘ (r)(lt —p) (7_3(7'4’773

@ i" (DO (22X =+2)
@ﬁq) (D -2)(2x ;H%ﬁ?)

Divide the following polynomials by the method of your choice.
4x° (% -%%-5

37) (—8x*+12x2 —x—1) + (2x — 3) 2%-% [ —§y FO X2 12X =X~ \ ™
_*Xg"‘,'n‘ X 9%-9 @

-1 hraxt
+( X%/f*lf’t
——’f__‘L;_{_-—X
1-(—‘!3‘ |
1) (- 3x* - 70> - 7x + 79) = (x - 10) 2) (pJ'—lOp +6p '58)+ (»=10)
By =% =10 0 -g :'_“g L VA
N 10 g0 © G y 0o o L0
\ 1 0 O 7 |oowd
G
Y +1x? ;7+x|0
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List the possible rational roots of the following function

40) f(x) = 2x* — x3 4 23x2 — 25x — 10
P X%\ 2,5 10
Cb - ____'__,_L_ﬁ.————g—: W'/t,lt%'gh—ﬁ
+%1,25%
41) Solve for the zeros of f (x) = x3 — 6x2 + 49x — 294
Ll - 4a -4y P
=0
v b0 pan O
, 0 4 LO . X =-44
42) Find the roots f(x) = x* — 4x3 + 20x2 — 64x + 64
T=Eal, & k- o2

AN -9 50 -pd Y )

-4 %28 -
Y3

N > W
(,Aap _ 90(% Kiwx "5
N(X-2) NulX2)
(x> 1) (X-2)
Write a polynomial function with the given zeros. q . U
‘ -+ 1] X A
2 | 44) =3 — /3,2 X Y] %
:——3'\[5 ’2, .»lxl -12x -12

43) 1+4i, K %z ,L&;‘\qu X )
R=lt4l - e X O | (D) ~
Ay 7 syaoe B\ HHY L1220

CORSO Wﬂmé@ Yiosa= 5 |
-t (X HA )
(X~ 2+ X -3) YA g
46) x = 0 mult of 3, —Emulton

45) x = =,0, —4
o 2 (5x-w) B =0
mb (7;7;&-‘40')( “'“0)

2y 4y=0 aw&%x% Flx?=0
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